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QUESTION 1

Before data communication is setup, the security groups match the security group rules one by one to query whether to
allow access requests Assume that the user has created two security group rules 1 and 2 The protocol type, port range,
authorization type, and authorization object of the two security group rules are the same. The difference is that Rule 1 is
a denial policy, rule 2 is an allowed policy, so the following statement is correct (Number of correct answers 2)

A. If rule 1 and rule 2 have the same priority, the rule of the denial policy takes effect first, and the rule of the allowed
policy does not take effect

B. If rule 1 and rule 2 have the same priority, the rule of the allowed policy takes effect first, and the rule that of the
denial policy does not take effect.

C. If rule 1 and rule 2 have different priorities, the rule with a small priority number takes effect
D. If rule 1 and rule 2 have different priorities, the rule with a large priority number takes effect.

Correct Answer: AC

QUESTION 2

You would like to deploy your applications on Alibaba Cloud to meet requirements including cost reduction, improving
service availability, fast deployment- and redundant backup Alibaba Cloud products can help meet these
requirements (Number of correct answers 3)

A. Elastic Compute Service (ECS) image achieve efficient and convenient deployment.

B. Utilizing Content Delivery Network (CDN) can meet the demands for redundant backup.

C. Utilizing Server Load Balancer (SLB) and ECS instances can improve data reliability.

D. Elastic Compute Service (ECS) snapshot satisfies the needs of rapid recovery of applications and data.

E. Reasonable selection of Regions/Zones meets the location needs of application deployment as well as the demands
for redundantly backup critical business applications and data.

Correct Answer: ACE

QUESTION 3

Compared with traditional physical servers, upgrading an ECS instance is much easier. Which of the following
statements about upgrading an ECS instance is false?

A. You can upgrade the CPU, memory, and bandwidth.
B. Upgrading the configuration of the ECS instance requires no\\' redeployment or data migration.

C. Upgrading network bandwidth does not require the ECS instance to restart.
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D. You can change an instance\\'s operating system without rebooting.

Correct Answer: C

QUESTION 4

The difference between public and private Server Load Balancers (SLBs) is that private SLBs connect to their backend
ECS instances using the private network (Intranet) while public SLBs connect to their backend ECS instances using the
public network (Internet).

A. True

B. False

Correct Answer: B

QUESTION 5

A popular worldwide forum stores static resources in OSS and accelerates access using CON Users find that the speed
of downloading files from the forum has been greatly improved, but uploading files is slow due to the long data
transmission distance, resulting in a bad access experience In order to improve the speed of uploading files for users in
this forum, so that users in different regions can have a good access experience, we recommend that the forum

can

A. Activate the PCDN service

B. Activate OSS in different regions as file storage, and synchronize data between OSS in different regions through
cross-region replication

C. Enable the transmission acceleration service for O: Enable OSS
D. Enable OSS static website hosting

Correct Answer: B
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